Dr. Bharat Sir

1.  Which of the following is/are the qualitative methods of
credit control in India?

1. Regulation of Consumer Credit
2. Discount Rate Policy

3. Rationing of Credit

4. Variable Reserve Ratio

Select the correct answer code:

(@1,2,3 (®) 1,3
()1,3,4 (d1,2,3,4

2. Consider the following statements regarding Shrink
inflation:

1. Shrink inflation is when an economy goes down by
size in monetary terms due to prevailing low prices.

2. Anincrease in the cost of input materials and intense
competition results in Shrinkflation.

Which of the statements given above is/are Incorrect?

(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

3. Withreference to Inflation in India, consider the following
statements:

1. Increasing Inflation in the Economy benefits the
creditors.

2. Real Estate Investments such as REITs can help against
inflation.

3. Very low inflation can lead to slow economic growth of
the country.

Which of the statements given above is/are incorrect?

(a) 1 only (b) 2 and 3 only
(c) 1 and 2 only (d) 2 only

4. In the context of Indian economy, consider the following
statements:

1. The rate of inflation has steadily increased in the last
five years.

2. A severe and prolonged recession leads to depression in
an economy.

3. Deficit financing is inherently inflationary in nature.
Which of the statements given above is/are correct?
(a) 2 only

(b) 1 and 2 only

(c) 2 and 3 only

(d) 3 only
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5.

Consider the following statements:

1. Continued deflation is a sign of a Strong economy.

2. Higher income tax may lead to a lower rate of inflation.
3. Low Inflation encourages Investment in the economy.
Which of the statements given above is/are incorrect?

(a) 1 and 3 only (b) 1 only

(c) 2 and 3 only (d) 2 only

6. In the context of Inflation, consider the following statements:

1. Base Effect is the impact of the price levels of
previous year on the calculation of inflation rate.

2.  Decrease in the Cash Reserve Ratio can increase
Inflation in the economy.

Which of the statements given above is/are correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 only (d) Neither 1 nor 2

In the context of Inflation, consider the following
statements:

1.  Goods and Services are used for the calculation of
the Wholesale Price Index.

2. When Inflation increases, the real value of the savings
falls.

3. Consumer Price Index covers only Goods in the
economy.

Which of the statements given above is/are correct?
(a) 1 and 2 only (b) 2 and 3 only
(c) 2 only (d) All of the above.

In the context of Inflation, consider the following
statements:

1. Inflation has a negative effect on the balance of
payments.

2. Inflation and Unemployment are negatively correlated

with each other.

Which of the statements given above is/are correct?

(a) 1 only (b) 2only

(c)Both 1 and 2 (d) Neither 1 nor 2

Consider the following pairs:
Types of Inflation Causative factor

Cost-push Inflation ~ Expensive raw materials

2. Core Inflation Inclusive of food prices

Skewflation Covers certain commodities

only
4.  Built-in Inflation Increase in wages
Which of the pairs given above is/are correctly matched?
(a) 1,2,and 3 only
(b) 2,3,and 4 only
(¢) 1,2,and 4 only
(d) 1,3, and 4 only
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11.

12.

13.

14.
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Consider the following statements regarding inflation in
an economy:

1. The base effect always amplifies the inflation levels
in an economy.

2. A certain degree of creeping inflation is considered
essential for an economy.

Which of the statements given above is/are incorrect?
(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2
Consider the following situations:

1. Ease of import restrictions.

2. Banning the export of commodities under inflation.
3. Releasing stocks from cold storage.

Which of the above would be effective in fighting inflation?
(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) All of the above
Consider the following statements:

1. The headline inflation used in normal parlance refers to
CPI (All India).

2. CPI (All India) assigns maximum weightage to food and
beverages.

3. The base year for both CPI and WPI is taken as 2011.
Which of the statements given above is/are correct?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d)1,2,and 3

With respect to impact of Inflation on value of currency
which of the following is correct?

(a) Value of currency increases.

(b) Value of currency decreases.

(c) Value of currency remains unchanged.
(d) None of the above.

With reference to © Consumer price Index © Consider the
following statements:

1. Consumer Price Index or CPI is the measure of changes
in the price level of a basket of consumer goods and services
bought by households.

2. Consumer price Index is released by the National
Statistical Office (NSO).

Which of the above statement/s is/ are correct?
(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2

With reference to Wholesale price Index (WPI) consider
the following statements:

1. Wholesale price Index measures the changes in the prices
of goods sold and traded in bulk by wholesale businesses
to other businesses.

2. In WPI the highest weightage is given to fuel and power.
3. The base year of All-India WPI is 2004-05.

Which of the above statements is/are correct?
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(a)1,2and 3 (b) 2 only
(c) 1 and 3 only (d) 1 only

16. Which of'the following situations contribute to the Inflation
situation in an economy?

1. Excess circulation of money.

2. Demand-supply gap.

3. Increase in tax rates.

Which of the above statements are correct?
(a) 1 and 2 only (b) 2 and 3 only
(c) 1 and 3 only (d) 1,2 and 3.

17. Reserve Bank of India is the authority to control inflation
through monetary policies. Which of the following tools
will the RBI take to curb inflation?

1. Increase Cash Reserve Ratio.
2. Decrease Statutory liquidity Ratio.
3. increase in repo rates.

Which of the above statements are correct?

(a) 1,2 and 3 only (b) 2 and 3 only
(c) 1 and 3 only (d) 3 only

18. With reference to Phillips Curve Consider the following
statements:

1.  The Phillips curve states that inflation and
unemployment have an inverse relationship.

2. Stagflation scenario also supports the Phillips curve
idea.

Which of the above statements are correct?

(a) 1 only (b) 2 only

(c) 1 and 2 only (d) Neither 1 Nor 2
19. Consider the following statements:

1. Disinflation refers to a persistent fall in the general level
of prices while deflation is a decrease in the rate of inflation.

2. Inflation decreases the value of money whereas the
deflation increases its value.

Which of the statements given above is/are Incorrect?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2
20. Which of the following curve defines the best relationship

between Inflation and Unemployment?
(a) Phillips Curve (b) Laffer Curve
(c) Lorentz Curve (d) Kuznets Curve

21. What are the possible effects of higher inflation in an
economy?

1. Nominal wage increases

2. Beneficial for Exporters

3. Depreciation of currency

4. Beneficial for creditors

Which of the options given above are correct?
(a) 1 and 3 only (b) 2 and 4 only

(c) 1,3 and 4 only (d) All of the above
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Consider the following statements regarding Inflation
Targeting:

1. Itis a monetary policy where the central bank sets a
specific inflation rate as its goal and adjusts its monetary
policy to achieve that rate.

2. The Monetary Policy Committee (MPC) and Central
government determines the policy interest rate required to
achieve the inflation target.

3. It is set by the Reserve Bank of India once every five
years.

Which of the statements given above is/are Incorrect?
(a) 1 only (b) 2 and 3 only
(c) 1 and 3 only (d) All of the above

Which of the following factors are responsible for causing
Cost-Push Inflation?

1. Crude oil price fluctuation

2. Low growth of Agricultural sector

3. Increase in direct taxes

Which of the options given above is/are correct?
(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) All of the above

The term Stagflation was coined by Iain Macleod, a
Conservative Party MP in the United Kingdom, in
November 1965. Which of the following events are most
likely to happen when an economy is undergoing
Stagflation?

1. Rapid increase in growth rate

2. High level of unemployment

3. High level of Inflation or price rise

Select the correct answer using the code given below:
(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d)1,2and3

Consider the following statements regarding Recession:

1. If there is negative growth rate in two consecutive
quarters, then the economy is said to be in a state of a
technical recession

2. During recessions, the central bank typically increases
interest rates in an effort to boost spending in economy.

Which of the statements given above is /are correct?
(a) 1 only (b) 2 only
(c) Both 1 and 2 only (d) Neither 1 nor 2

Consider the following statements regarding types of
Inflation:

1.  Inflation that occurs due to increase in aggregate
demand is referred to as cost push inflation

2. Pricerise in all goods and services except food and
energy due to high price fluctuations is headline inflation.

Which of the statements given above is /are correct?
(b) 2 only
(d) Neither 1 nor 2

(a) 1 only
(c) Both 1 and 2
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Consider the following statements regarding Shrink
inflation:

1. Shrink inflation is when an economy goes down by size
in monetary terms due to prevailing low prices.

2. An increase in the cost of input materials and intense
competition results in Shrinkflation.

Which of the statements given above is/are Incorrect?
(a) 1 only (b) 2 only
(c) Both 1 and 2 (d) Neither 1 nor 2

Which of the following has the highest weightage under
Consumer Price Index urban?

a)  Fuel and Light b)

c) Clothing and footwear

Food and beverages

d) Housing

Which of the following is/are the major traits of Recession?
1. General fall in demand

2. Unemployment rate falls

3.  Inflation remains lower or/and shows further signs of
falling down

Select the correct answer code:
a)l,2 b)2,3
ol,3 d)1,2,3
Consider the following statements:

1.  Deflation refers to the decrease in the general price
level of goods and services but inflation rate remains above
Zero.

2. Stagflation is a situation in which the inflation rate is
high and at the same time economic growth rate remains
steadily high.

Which of the above statements is/are correct?
a) 1 only b) 2 only
c) Both 1 and 2 d) Neither 1 nor 2

Which of the following statements best describes ‘fiscal
consolidation’?

a) Strategy of the government to disinvest public sector
enterprises to meet deficit.

b) Government agenda to reform loan disbursal
mechanism of scheduled banks.

c) Policies undertaken by Governments to reduce their
deficits and accumulation of debt stock.

d) Scheduled banks action plan to recover the loans from
non-performing assets.

Consider the following statements.

1. Core inflation represents the long run trend in the price
level, including food and fuel inflation.

2. In measuring core inflation, volatile price changes
are usually excluded.

Which of the above statements is/are correct?
b) 2 only
d) Neither 1 nor 2

a) 1 only
c) Both 1 and 2
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Consider the following statements.

1. Inflation in a controlled manner is good for the
economy.

2. Highinflation can lower the purchasing power of the
consumer.

3. The RBI monetary policy has a direct impact on
controlling “cost-push” inflation.

Which of the above statements is/are correct?
a)l,2 b) 1,3
c) 2 only d)2,3
If the repo rate is decreased in an economy, it will:
(a) decrease the consumption expenditure in the economy
(b) increase the tax collection of the Government
(c) increase the total employment in the economy
(d) Decrease in the interest rates
Consider the following statements regarding Stagflation:

1. It happens when an economy faces stagnant growth as
well as persistently high inflation.

2. The purchasing power of a consumer is not affected by
stagflation.

3. Stagflation results in high inflation, stagnation, and high
unemployment.

Which of the given statements are correct?

(a) 1 and 2 only (b) 2 and 3 only

(c) 1 and 3 only (d) 1,2 and 3

Stagflation is an extreme economic condition characterized
by a special combination of which of the following?

(a) High growth, high unemployment, rising inflation

(b) Slow growth, high unemployment rate, rising inflation
(c) High growth, high unemployment, increasing deflation
(d) Slow growth, high unemployment rate, increasing
deflation

Consider the following statements:

1.  Headline inflation refers to changes in the prices of
all goods and services in the basket.

2. Core inflation excludes food and fuel items from
headline inflation.

3.  Headline inflation is less volatile than core inflation.
Which of the above statements is/are correct?

(a) (b) 2and 3 only

(©) (d 1,2and3

Which of the following comes under the definition of
inflation?

1 and 2 only
1 and 3 only

1. Increase in the general level of prices

2. Continuous increase in the general level of prices
3. The general level of prices is falling over time
Select the correct answer from the codes given below:
(a) 1only (b)
(¢) 2and 3 only (d)

1 and 2 only
1,2 and 3
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39.

40.

41.

42.

43.

44.

45.

Inflation occurs when there is a sharp decline in supply and
demand remains at the same level — which of the following
is related to?

(a) Core inflation Inflation

(b)
(¢) Cost-pushinflation (d) Running inflation

Which of the following is related to inflation and
unemployment?

(a) Gini coefficient (b) Kuznets curve

(d) Phillips curve

By reducing the bank rate by the Reserve Bank of India,
(a)

(b) Low liquidity in the market

(c¢) Laffer curve

more liquidity in the market

(¢) No change in the liquidity in the market
(d) Raising more deposits by commercial banks

Ifthe RBI decides to adopt an expansionary monetary policy,
which of the following will it NOT do?

1. Cut the Statutory Liquidity Ratio

2. Increase marginal standing facility rate

3. Cut bank rate and repo rate

Select the correct answer using the code given below :
(a) Onlyland2 (b) Only2

(c) (d 1,2and3

Which of the following is/are the measures to control rising
inflation?

1 and 3 only

1.  Government can import goods.

2. The government can try to reduce the production cost
of goods.

3. The government can resort to strict monetary policy.

Select the correct answer from the codes given below:

(e) 1only (b) 1 and 2 only
(¢) 2and 3 only
(d 1,2and3

Which of the following is/are not measures to control
deflation?

1. Increasing cash reserve ratio
2. Quantitative Easing
3. Cut tax rates

Select the correct answer from the codes given below:

(a) 1only

(b) 1and2only

(¢) 2and3only

(d 1,2and3

Inflation occurs when there is full supply
(a)  more than the total demand

(b)
()
(d) none of these

less than aggregate demand

equal to total demand
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46. On what basis is the inflation rate measured in India?
(a) Consumer Price Index

(b) Wholesale Price Index
(c) Cost of living index of workers
(d) all of the above

47. Consider the following statements:

1. The weightage of food items in the Consumer Price
Index (CPI) is more than their weight given in the “Wholesale
Price Index’ (WPI).

2. The CPI does not capture changes in the prices of
services, as the BCP does.

3. The Reserve Bank of India has now adopted the RBI
for the main value of inflation and for determination and
change of key policy rates.

Which of the statements given above is/are correct?

(a) 1and2only (b) 2only
(c) Only3 (d 1,2and3

48. The basis for determining dearness allowance of employees
in India is-
(a) National Income (b) Consumer Price Index
(c) standard of living (d) per capita income

49. Core inflation is defined as-
(a) Headline inflation excluding fuel inflation only
(b) food inflation and fuel inflation
(c) Headline inflation excluding food inflation only

(d) Headline inflation excluding both food inflation and
fuel inflation

50. Which ofthe following establishment/office releases the data
of Wholesale Price Index (WPI) in India?

(a) Reserve Bank of India
(b) Ministry of Commerce and Industry
(c) Finance Ministry

(d) Ministry of Consumer Affairs, Food and Public
Distribution

51. In the measurement of Wholesale Price Index, which one
of the following sectors is given the maximum weightage?

(a) food sector

(b) Non-commodity sector

(¢) Fuel, power, light and lubricants
(d) manufactured products

52. The Government of India has changed the base year from
2004-05 to which year for the All India Wholesale Price
Index?

(a) 2010-11
(b) 2011-12
(c) 2012-13
(d) 2013-14

(e) none of the above / more than one of the above
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53.

54.

55.

56.

57.

58.

59.

Who among the following brings out the Consumer Price
Index Number for Industrial Workers?

(a)
(b)
(©)
(d)

The producer price index measures-

Reserve Bank of India
Department of Economic Affairs
Labor Bureau

Department of Personnel and Training

(a) Average change in the price of goods and services
produced

(b) Marginal change in the price of goods and services
produced

(c) the total change in the price of goods and services
produced

(d) none of the above

With reference to inflation in India, which one of the
following statements is correct?

(a) The control of inflation in India is the sole
responsibility of the Government of India.

(b) Reserve Bank of India has no role in controlling
inflation.

(¢) Reduced money circulation helps in controlling
inflation.

(d) Increased currency circulation helps in controlling
inflation.

Consider the following statements:

1.  Inflation benefits borrowers.

2.  Inflation benefits bond-holders.

Which of the statements given above is/are correct?
(a) Only1 (b) Both1and?2

(¢) Only2 (d) Neither 1 nor 2

Who among the following gets maximum benefit from
inflation?

(a) moneylender (b) debtor
(¢) Those having savings account

(d) Government pensioner

Who among the following has set an inflation target of four
percent in India for the year 2016 to 2021 with a tolerable
level of + /-2 percent?

(a)
(b)
(©)
(d)

Which of the following may be most inflationary in its
effect?

(a)
(b) Borrowing from the public to finance the budget deficit

Reserve Bank of India
Government of India
Policy Commission

Fourteenth Finance Commission

Repayment of public debt

(c) Borrowing from banks to finance budget deficit

(d) Creation of new currency to finance the budget deficit
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following statements:

1. If the inflation is too high, Reserve Bank of India
(RBI) is likely to buy government securities.

2. If the rupee is rapidly depreciating. RBI is likely to
sell dollars in the market.

3. Ifinterest rates in the USA or European Union were
to fall, that is likely to induce RBI to buy dollars.

Which of the statements given above are correct?
(a) 1and2 only (b) 2 and 3 only
(¢) 1and3 only (d 1,2and3

60. With reference to the Indian economy, consider the | 0. 9T s1efegawen & 9<y #, fAfafad FoAl W

SIS
XA X R X4

fo=amr i
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